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reg_asym_saml_diff bpm1X_ slope vs run
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reg_asym_saml_diff_ bpm4aY_slope vs run

X2 / ndf 15.46 / 84

-45

- p0 -65.42 + 0.7729

i

IIII-I-I-I-lf:l:I:I_.f

WWWMWWWWWWMWWW

BEERSEE T TE

e pull
++ | Entries 85
:{ Mean -49.39

Std Dev 75.84

pulllD

25

10

35

30

20

15

Entries 85

Mean 0.01928

Std Dev 0.4261

-6 -4 -2 0 2 4 6 8



reg_asym_saml_diff_ bpm4eX_ slope vs run
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reg_asym_saml_diff_ bpm4eY_slope vs run
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reg_asym_sam2_diff bpm1X_ slope vs run
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reg_asym_sam2_diff_bpm4aY_slope vs run
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reg_asym_sam2_diff_bpm4eX_ slope vs run
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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam2_diff_bpm12X_ slope vs run
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reg_asym_sam3_diff_bpm4aY_slope vs run
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reg_asym_sam3_diff_bpm4eX_slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam3_diff_bpm12X_ slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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